diﬂ'erence. nd eslstanee ertalr u-
been devised viz. (1) the galvanomater for 2»;;

ection of small currents or measurement of small emr-f
s of the order of microamperes or milllamperes (1}
meter or potentiometer for the measurement of

al difference (or voltage) between two points of a

L or the emf of a source (i) the ammeter for the

srement of large currents (iv) the wheatstone

, the meter bridge, the post office box and the

neter for the measurement of resistance.

The moving coll galvanometer

~ The moving coll galvanometer Is a basic eisctrical
it It is used for the detection (or measurement)
80 rrents.







alnays parallel to its planc.

current passes through the galvanometer
a magnetic deflecting torque which

ite it from its rest position. As the coil ro-
uces a twist in the suspension sirip. The

strip produces ah clastic restoring torque.
rotates until the elastic restoring torque due to
does not equal and cancel the deflecting mag-
and then It attains equilibrium and stops







'cotl instead of being suspended by a strip is

n two jewelled bearings. The contmllmg

b(’ the coll and curling 1n the opposite sense.
ends of the coll are connected one to each

light aluminium pointer is fixed to the con
aver a callbrated circular scale with equal




clmenthcanedthcrangcdthew

t———_—

"Acun'entthat llcs wuhmthlsmm,




s full scale deflection when current I

.i;"»: it. Fig. 15.4. Suppose we want o modify it
eter to measure a2 maximum current | (or to
pe to I). A shunt R, of appropriate small










resistance for the conversion of the galva-
o a voltmeter of any desired range V volts.




witch to the other common terminal (F!g.15 7lb|5

A galvanometer has_ a resistance of 20 ohms and; i
f‘ sll-scaie deflection when a current of 0.001 am-

; In it. Find out (i) thevaiueo[meshumM,v

{"\-‘ _,_:.‘.nuu P er d mnge lO les-
'3







C (le across Ry). Since no current flows
galvanometer the current in R; equals that

'Vpa = Vpa It follows from Ohm's Law that

seessemssccaceees . (15.5)

mesem=dssanesysiane (155)







sistances. The unknown reslslance. x‘ tg.
1s the fourth amm, g






















a current of 500 micro ar




10 A SA 1A
Flg. 15.16













